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PN nSHFD
Nu: pEuE e
Tl EXAIE BE Y FHEN HEY(EUE L) CERE)
SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
E=g=:F SNl 3,013,839 4,590,956 A1,577,117
Al 62,000
- 2,951,839
nESMF A 2,309,319 4,003,385 A 1,694,066
Al 62,000
- 2,247,319
FUHAE &5 2 FUNEN 2B (FUHE SEIAH) 2,309,319 4,003,385 A 1,694,066
Al 62,000
- 2,247,319
FAHANEE=TE =0 L 2el 510,300 399,523 110,777
101 el ] 14,581 13,846 735
04 JIZtHIZ2E2HEE S 14,581 13,846 735
O =XE2IEX 8= 49,4303 x1H»216 10,677
O ZHELYLE R3EULY
49,4303 »1H +53 2,620
O FXUHE2IEX FUALEEE
13,297,000 *2.665% 355
O FXUNE2EEL LI RLYEE=
355,000 *6.55% 24
O FHE2SLLZT 20IAILY
13,297,000 *4.5% 599
O =XUHE2I9EX I82Es
13,297,000& *1.3% 173
O FUHE2IEX MHEER
13,297,000 * 1% 133
201 Let2IH| 18,646 23,918 N5, 272
01 AtE22/Hl 17,866 23,918 26,052
(ORFSE=F PNyl 330&+1000H =12 396
O XA 90,0003 3 Ax12& 3,240
O ZDE(HAAEIA) 33,000 x5 x 128 1,980
O AR =X 5,500& «503 x 128 3,300
O etE W 200, 0002 *20H 4,000
O diold ZEgly &l 270,000 *50H4 1,350
O Fies MEIE ZHs==
10,000,000& *3%*12& 3,600
02 =234l 780 0 780
O FAXNEEF=XNHE X &) 23
65,000& 123 780
207 HFIHEHI 100,000 0 100,000
01 A= HH| 100,000 0 100,000
O =XE=g2HEA S|
100,000, 000% * 14 100,000
307 QI2t0IA 348,554 318,240 30,314
05 BItRE = 348,554 318,240 30,314




SN DEHHD
Hu: pEsE M
Pl EXAIE EHE L FXNEA HY (T SEIH) (el &2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- - T - = S = o = 0:”/&,% Wsa
O FHNREB(BY) FAEZ QA 242
580,922,0002 0.6 348,554
308 AIXIHASOIA 3,519 3,519 0
05 KXIESHZ2ESS 3,519 3,519 0
O ZSe=XEEANAEY ESeteNExs2
3,519,000 13| 3,519
401 AlEHILE0HY] 25,000 40,000 A 15,000
01 Al&H| 25,000 40,000 A 15,000
O ZHNHE(ZY) 24 2 agl
500,000 =104 2 5,000
O =HXEE( AR EH A XY
2,000,000 * 1004 2 20,000
Ol =XAIE =& 64,036 63,952 84
Al 42,000
- 22,036
201 LEr29Y| 3,186 3,102 84
01 AP 2t2ld] 1,350 1,350 0
O dolMd Zely &Y 270,000& x53| 1,350
02 22344 1,836 1,752 84
O DeIEXAIY (BB=2C9]) CCTV eIy AlE2
33,000 x4 x12& 1,584
O JBIFEXAS(Z2=2H9]) CCTV HIIR2
7,000 *3CH*12& 252
203 2R =&H| 850 850 0
03 AIBFAHI = 850 850 0
O =X &= 1,000, 0002 *85% 850
307 QIZtol & 60,000 60,000 0
Al 42,000
- 18,000
02 DI2HAAMEX 60,000 60,000 0
O Oel=XFAFS (K 60,000,000 60,000
Al 42,000
- 18,000
HE=HX NE S 309,590 260,381 49,209
Al 20,000
- 289,590
101 @12 H| 146,264 69,227 77,037
04 JI2tHIZ22 X s 146,264 69,227 77,037
O s8H=dX 28X 146,264
- ol 49 430 *216 2«10 106,769
-825de 49,430 x53L «10H 26,198
- 40 B2 132,967,000 *10% 13,297
201 LBt AH| 121,226 88,664 32,562
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SN HB G (BH) - MRAY - BES 0l & B Hlm= 2
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01 AFR22lH| 57,330 43,992 13,338
O =EXtsE AEIA 1103 +8,00001 = 12& 10,560
O FUHEM HE 2= 110&*10,00004 23] 2,200
O =EXtE 28 89 100, 000& *200H 2,000
O =EXRAL AHMSKA 55,0003 708 A 3,850
O NHESFUAINSKA 2ets Zet
200,000& x4 E+12& 9,600
O LHSRFUMESKAM 2stE EH
200,000& =63 1,200
O FEXUHSZAR gtz 2et Tl &Y
200,000& »4Z 62| 4,800
O ZelHy &d 200,000& =63 1,200
O =Xt EXI(A3) 40,0003 55+ A 200
O FHXE ADE(MX) 17,0002 x102 A 170
O Jtdlet gtdiel 3,000& 504 150
O Jtoliet H229t=(128M) 40,0003 x5H4 200
O F=g=8 =2 1,000 x60H 24 120
O =xHsEE8 &2 20,0003 = 1504 300
O FEXNHERA Z2= 100,000 «10H *33] 3,000
O FENHZRA 3 70,0003 x 10 *x23| 1,400
O FENHZRA Ygsts 100,000& *10Y 1,000
O =F3XH=ERE 24 7,000 x30H »23| 420
O FEUHERA 29 30,000&+10H 300
O OF2t XHI S&HES S2 34|
7,000& x6Hx130 5,460
O =&X =3t0et +=2lhl
100, 0002 x7CH*23] 1,400
O #28 25Y FHNCRA 224
50,0003 x3E x15 2,250
O£ 222 FIHHE2Y 224Z
50,0003 x3H x25& 3,750
O doIxte axtz 1,800,000& 1,800
02 2224l 63,896 44,672 19,224
O Roc=3tHel(XS) AHWAIZE
176,000 = 13CH » 123 27,456
O Roct=3tHeH(+=s) AHUMEZ
50,0003 x4CH«12& 2,400
O RoH=EIMet 8123
45,0003 170+ 12& 9,180
O Foct=3t0iet 4l Xl
1,000,000 = 11CH 11,000
O EY =XALXE SK 3=
2203 x63,000H 13,860
401 AIEHIZ 2 40,000 83,000 A 43,000
Al 20,000




SN DEHFD
Hu: DEHF A
Tl EXAIE BE Y FHEMN HEY(EUE SLIH) CEERE
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree
- 20,000
01 Al&H| 40,000 83,000 243,000
O EYFEIX PUCSFH(DEEY) XA
40,000,000 *1JH & 40,000
Al 20,000
- 20,000
405 AHoHESHI 2,100 0 2,100
01 ML ESHSHI 2,100 0 2,100
O =EF=FX &©5otet 2l
300,000& *7CH 2,100
=X g S 2 H= 217,676 221,025 A 3,349
101 Q14| 29,254 27,691 1,563
04 JIZHMIZ2XEE =+ 29,254 27,691 1,563
O =&X RALtUHE MEHels B2 29,254
- oy 49,4303 x216€ x2H 21,354
mreEgsE 49,4303 x53L x2H 5,240
- 404 B2 26,594,000 *10% 2,660
201 LBt 3| 176,095 183,580 AT,485
01 AtS 22/t 44,095 44,980 A 885
O dold Zely &4 319,000& *53] 1,595
O DtEig XA 70,0002 *4508F A 31,500
O AXNA &=l 17&+600, 0000H 10,200
O dRLALSE A 70,0003 55+ A 350
O stz & dills==2 3,000& 15024 450
02 23234l 132,000 138,600 26,600
O XM 282 2203 *600,000A 132,000
303 Z&z 10,827 9,754 1,073
01 E&3 10,827 9,754 1,073
O =EX2L MHE MEH d+ ZAZ
1,031, 100,000& *25/100+4.2/100 10,827
405 AHoHESHI 1,500 0 1,500
01 XYL SSFSHI 1,500 0 1,500
O =X E URAE DXNN S5 X
= 1,500, 0003 »1CH 1,500
FEXE ANE=E: EX € B 155,000 77,300 77,700
201 et 2,000 2,000 0
01 AtS 22l 2,000 2,000 0
O ANEHOIESE LS 28
100,000& 100K 1,000
O MEAHoI=g8ds BE2R0UE
50& *20, 00004 1,000
305 &3S 3,000 3,000 0




_ _ SN E N
NS H2A(SH) - MRAY - BES AF oK oﬁ/ﬁiﬁ Hlns2t
01 HHAZ3S 3,000 3,000 0
O XNEHOIEAIES Tall 242 3,000,000 3,000
307 2I2t01A 2,000 2,000 0
02 DIZHANE X 2,000 2,000 0
O NENDA 29 L NEANE X
2,000,000 2,000
401 Al HI LR HY] 148,000 70,000 78,000
01 Al&Hl 148,000 70,000 78,000
O FHA FEH 44X & 2
2,600 *30,000m 78,000
O XMEH =0 &1 2 25
10,000, 0002 * 14! 10,000
O MHENATZ AE2 gX2e
60,000,000 *14! 60,000
ol bl ,052,717 2,409,204 A 1,356,487
801 Oilbl bl ,052,717 2,409,204 A 1,356,487
01 oigll ,052,717 2,409,204 A 1,356,487
O oyl 1,052,717,000& ,052,717
HYP2HBH(WSSHH ) 704,520 587,571 116,949
SHR2AH(FXUE SE3H) 657,760 547,747 110,013
AZ2GHI(FHE SE3IH) 657,760 547,747 110,013
101 Q1244 563,646 523,207 40,439
01 24 506,252 288,325 217,927
O =3 297,644
- 63 2,512,100% »2H 128 *1.051 63,366
-73 1,990,300& *»2H 122 *1.051 50,204
- 92 1,191,4002 1 * 122 x1.051 15,026
- J1s83 1,919,200 *6 % x 128 x1.051 145,230
- 1593 1,888,500 1 * 128 x1.051 23,818
O &03 24,804
- Y¥2+¢ 297,644,000 /128 x50%+*23] 24,804
OFP=~F=EN=PIFNF= 14,760
- 200/ 4 100,000 x8 % x 122 9,600
- 150/ 4 20012 80,0002 x3 128 2,880
- 54014 100] 0 50,0002 x1Z 128 600
- H2FIH3 1,680
2540 & 30,0002 *3Z 128 1,080
2004 154012 10,000 x5 « 122 600
O s 11,040
- B X 40,0002 * 12« 12& 5,760
- MAEHIS 20,0002 x20% « 122 4,800




SN RESHD
Y HH2YAH(NSS#HF )
chel: clARIAH(=XE SE3lH) (ctel: &
S EB ORI (B) - HRAIY - BAS O] &k o8 L=t HlmE2
Ol &k
- AT 20,0003 x2H+12& 480
O tHsHl2x4 4,323
- 38w 62,4003 3% *43| 749
- 1sgu 446, 7003 2 x4 3| 3,574
O ti=sz=2dx4 297,644,000 x4 .8%+0.5 7,144
O Jlgd=2=Y 20,0003 x1H~12& 240
O JI=d382290ta3 20,0003 1~ 12& 240
O Al2t22fs4 30,105
- 6= 8,312 «2H «30A| 2tx 123 5,985
-78 7,457 x2H x30Al 2tx 12 5,370
- 9= 5,993 1 »30Al 2tx 12 2,158
- Jls82 6,682 x6H x30A| 2+ 12& 14,434
- Jls92 5,9933 x 1 x30A| 2+ 12& 2,158
O A=Al 130,000& 12 x 123 18,720
O WE2 = 17,760
- 6=~7T= 130,000 x4 H 122 6,240
- 9= 120,000& x1E 12 1,440
- JIs8=~J1s92 120,000& »7H «12& 10,080
O ZE SO 297,644,000& /128 x60%+*23| 29,765
O JHAIXI&HI 297,644,000 *16.7% 49,707
03 RIAHA2Z2NHE = 57,394 56,073 1,321
O =X 57,394
- == 1,169,750 x2H x12& 28,074
- J|Z=< 869,850 x2H x1& 1,740
s 1,440
b < Kt 40,0003 x2ZF x12& 960
A EHIS 20,0003 x2H x12& 480
- JHAIE 24| 30,0003 x2H+12& 720
- daugalyl 110,000& »2H «12& 2,640
- WEE X 140,000 »2F « 12 3,360
- @EF Ot 869,850 »2H 2 & 3,480
- RIS AtHI 50,0003 x2ZH x12& 1,200
- A2IA2R2E 9,954 x2H «25A| 2+ 123 5,973
- 522 79,6323 x2H+x2Ux12& 3,823
- B8&88 4,944
HABER 56,545,000 *2.665% 1,507
IUHZRES 56,545,000 *4.5% 2,545
NESBEs 56,545,000 *1.3% 736
MIHEE = 5,655,000 * 1% 57
SOOI RAYEH 1,507,000& *6.55% 99
204 MR 7,160 24,540 A7,380




SN DEBHD
HH: HNSAFU(DESI L)
Sl QS UH(FXY SHEIH) (25l &2
SA - M. SR(F) - MPAY - BAS 0ff &+ o4 glggi; bRz
02 Mg EH| 17,160 16,740 420
O HZPZH| 17,160
- 62 55,0002 2% + 122 3,720
- 73 140,0002 x2%5 122 3,360
- 92 105,0002 12§ » 122 1,260
- J1583~71593 105,000 %72+ 122 8,820
304 AIRLIS 76,954 0 76,954
01 Y2RE 62, 125 0 62,125
O e2RY3 62,125
- B9 YUZRLZ 523,412,00020+6.7% 35,069
PHI3 523,412, 00021 %2.327% 12,180
- x4y 2g3 523,412, 00024 %2.71% 14, 185
- B4 REE 523,412,0002+0. 132% 691
02 2LAALHI 14,829 0 14,829
O RAYBE LY 522,212,000 2. 665% 13,917
O LAFIYBEE L3
13,917, 0002 %6 .55% 912
=AY (FRE S ) 46,760 39,824 6,936
IIR2BH(ERE SEEH) 46,760 39,824 6,936
201 LByl 10, 160 11,024 864
01 ARl 10, 160 11,004 £864
L VES-BIEES -1
40,0002 #1281 122 +85% 4,896
O 2N2Y I+ 22
7,0002 %128 *3A %122 3,024
O FUISLN 25T S2 2|
7,00024 +82 x40 2,240
202 048] 28,800 28,800 0
01 2Uioibl 28,800 28,800 0
O 2uoitl 20,0002 %128 *105] 122 28,800
204 HRLHAY) 7,800 0 7,800
03 SHAL Y| 7,800 0 7,800
O welgsy| 50,0002 %1124 *122 6,600
O MRLYBLALY 100,008 1Y +128 1,200




